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Пол8т8к4 D45отO E пDоEDоченно9 74дол6енноEтPю 
 

И=DоD<4F8O о де9Eт68OE, котоDOе <о7ут 5OтP пDедпD8=OтO ОпеD4тоDо< 6 Eлуч4е 
=е8Eпол=е=8O о5O74телPEт6 л8Fо<, пD86лек4Nщ8< 8=6еEт8F88 

 
1. По 6опDоE4< 6Oд4G8 8 по74Hе=8O 749<о6 ОпеD4тоD о5I4етEO по л8G=о<у телеDо=у 

E Dуко6од8теле< (Е�О), 4 т4к6е E лN5O< уGDед8теле< (долO 25%+) 
2. �4 14 к4ле=д4D=OE д=е9 до пл4=о6о9 д4тO 74Hе=8O �4U<I8ку =4пD46лOетEO С�С 8 

e-mail у6едо<ле=8е E 8=DоD<4F8е9 о д4те 8 Eу<<е по74Hе=8O. 
3. �4 7 к4ле=д4D=OE д=е9 до пл4=о6о9 д4тO 74Hе=8O �4U<I8ку =4пD46лOетEO 

по6тоD=ое С�С 8 e-mail у6едо<ле=8е E 8=DоD<4F8е9 о д4те 8 Eу<<е по74Hе=8O. 
4. �4 5 D45оG8E д=е9 8 6 д4ту пл4=о6о7о по74Hе=8O E �4U<I8ко< ОпеD4тоD E6O7O64етEO 

по телеDо=у E пDедEт468телO<8 �4U<I8к4. 
5. � EлуG4е 6OEод4 (пл4=8Dуе<о7о 6OEод4) =4 пDоEDоGку у �4U<I8к4 74пD4H864етEO 

8=DоD<4F8о==ое п8EP<о E оп8E4=8е< пD8G8=O 6OEод4 =4 пDоEDоGку 8 пл4=о6O< 7D4D8ко< еU 
по74Hе=8O. 

6. � EлуG4е =еко=т4кт=оEт8 �4U<I8к4 ОпеD4тоD 8EполP7ует 4лPтеD=4т86=Oе к4=4лO 
E6O78 длO уEт4=о6ле=8O ко=т4кт4 E �4U<I8ко<. 

7. � от=оHе=88 74дол6е==оEт8 �4U<I8ко6, по упD46ле=8N 74дол6е==оEтPN котоDOE 
<е6ду �4U<I8ко< 8 ОпеD4тоDо< 8(8л8) <е6ду ОпеD4тоDо< 8 �4=ко<, 6 котоDо< откDOт 
54=ко6Eк89 EGет �4U<I8к4, – 74клNGе=о Eоот6етEт6уNIее Eо7л4Hе=8е (п4кет Eо7л4Hе=89) по 
упD46ле=8N 74дол6е==оEтPN �4U<I8к4 – ОпеD4тоDо< оEуIеEт6лONтEO де9Eт68O =4пD46ле==Oе =4 
пеDеG8Eле=8е Eу<<O 74дол6е==оEт8 =4 =о<8=4лP=O9 EGет ОпеD4тоD4 Пл4тDоD<O, E FелPN 8E 
д4лP=е9Hе7о D4EпDеделе=8O 8=6еEтоD4<. 

8. �4 5 де=P пDоEDоGк8 ОпеD4тоD пу5л8кует длO 8=6еEтоDо6 6Eе доEтуп=Oе ко=т4кт=Oе 
д4==Oе �4U<I8к4. 

9. �4 5 де=P пDоEDоGк8 (6 5л8649H89 D45оG89 де=P) ОпеD4тоD пеDед4ет д4==Oе 6 
�NDо кDед8т=OE 8EтоD89 о д4==о< D4кте. 

10. �4 15 де=P пDоEDоGк8 (6 5л8649H89 D45оG89 де=P) ОпеD4тоD =4пD46лOет 
доEуде5=уN пDете=78N �4U<I8ку. 

11. С 30 д=O пDоEDоGк8 по 60 де=P пDоEDоGк8 - под4етEO 8Eко6ое 74O6ле=8е 6 Eуд. 
12. ПоEле полуGе=8O 8Eпол=8телP=о7о л8Eт4 ОпеD4тоD оD74=87ует е7о =4пD46ле=8е 6 

54=к8, 7де у �4U<I8к4 откDOтO D4EGет=Oе EGет4, 4 т4к6е 8=8F88Dует 8Eпол=8телP=ое 
пDо876одEт6о. 

13. �45оD ко=кDет=OE <еD, пDедпD8=8<4е<OE ОпеD4тоDо<, 8E EоGет4=8е, - <о7ут 
64DP8Dо64тPEO ОпеD4тоDо< 6 7468E8<оEт8 от EпеF8D8к8 E8ту4F88, 4 т4к6е 6 7468E8<оEт8 от 
=4л8G8O 74клNGе==OE Eо7л4Hе=89, ук474==OE пу=кто< 7. �4EтоOIе9 Пол8т8к8. 
 


